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INSTRUCTIONS TO THE CANDIDATES

The sealed Question Booklet containing 100 questions enclosed with O.M.R. Answer Sheet is given to
you.
Verify whether the given question booklet is of the same subject which you have opted as in your
Admission Ticket.
Open the question paper seal carefully and take out the enclosed OMR Answer Sheet outside the
question booklet and fill up the general information from SI. No. 1 to 10 of OMR Answer Sheet. If you
fail to fill up the details in the form of alphabet and signs. as instructed, you will be personally
responsible for consequences arising during scoring of your answer sheet.
Enter the Question Paper Booklet Si. No. in the OMR Answer Sheet at SI. No. 4.
Enter the Code of the subject you opted in the SI. No. 9 of OMR Answer Sheet.
(a)  During the Examination :- Read each question carefuily.
(b)  Select the correct answer out of the four choices given under each question.
Completely darken/shade the relevant circle against Question No. in the OMR Answer Sheet.
For Exampie, in a question paper if Si. No. 3 is correct answer for question No. 20, then darken
before Si. No. 20 of OMR Answer Sheet using blue / black ball point pen as follows.

20D @ @ @ (Onlyexample)
Rough work should be done only on the blank space provided in the Question Booklet. Rough work
should not be done on the O.M.R. Answer Sheet.
If more than one circle is darkened for a given question, such answer is treated as wrong and no mark
will be given. See the example in OMR Answer Sheet.
The candidate and the Room Supervisor should sign in the OMR Sheet at specified place. Candidate
has to put left hand thumb impression at specified place compulsorily. Corrections/Overwriting on
OMR Answer Sheet will be not entertained.
Each of the candidate is given carbonless O.M.R. sheet in dupllcate Candicate should return the
original O.M.R. Answer sheet to the Room Supervisor and retain carbonlass copy of the same
with him after the examination.
Calculator, pager & mobile phones are not allowed inside the examlnatlon hall.
If a candidate is found committing malpractice, such a candidate shall not be considered for
recruitment and action will be taken against such candidate as per rules.

INSTRUCTIONS TO FILL UP THE O.M.R. ANSWER SHEET
There is only one correct answer for each question.
All entries in the circle must be made with BLUE or BLACK ball point pen only. Do not try to
alter the entry.
Circle should be darkened completely so that the numeral inside the circle is not visible.

Do not make any stray marks on this sheet.
This is a carbonless Answer Sheet. There is no need to shade the second copy separately.
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BIOLOGICAL SCIENCE
Chemistry

Among the following compounds, 1. & 3YAS oo am&ﬁ@ 2=lelaplJ]
the bond length between the carbon W&amﬂ'? SBRAT word
atom is shortest in Eog) BETNH3 30
(1) Ethane () Sudes
2) Eth.ene 2) SBess
(3) Ethyne (3) éqqgﬁs
(4) Benzene (4) oext
The law which describes the 2. AT uZERY, woound mg, R
relationship between the volume and BOTININY IO WOWOFHIIY,
temperature of a gas at constant ABHSET Jodhad ’
pressure is called '

(1)  23903FR doDed
(1) Boyle’s law

2 D
(2) Charles law (2) ZSDUS&'& N0
(3) Dalton’s law &) me&a@ Dok
(4) Avogadro’s law 4 edmd‘@ﬁ Q0o
The oxidation number of Chromium 3. K0, 88 i@f&ao&:o&f
in K,Cry0; is VZ,RE £ RS, |
( +7 () +7
(2) +5 (2) +5
3) +6 3) +6

4 +4
(4) +4
Identity the exothermic process 4. & i%’ﬁd@n’%@ u&’m:?’;g
among the following : 3,008, THTH.
(1) melting of solid () FISRIS FOTORT
(2) evaporation of liquid (2) TH TRIT BRI
(3) sublimation of solid (3) TS TS WSS
(4) combustion of solid 4) TS TWII BHS

O BS
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Ethyne is prepared by the action of

water on

() AlLC,
(2) CaC,
(3) CaCoO,

(4) (CH,C00),Ca

Benzene does not undergo addition

reaction easily because
(1) it has a cyclic structure.

(2) double bonds in it are very
strong.

(3) resonance stabilized system is
to be preserved.

(4) it has six hydrogen atom.

If 2 gm of urea is dissolved in 38 gm
of water, then the percentage of urea
by mass in the solution is

(1) 5%
2)  95%
(3) 5.26%
4)  9.5%

The zig-zag motion of colloidal
particles was tirst observed by

(1) John Tyndal
(2) Robert Brown
(3) Zsigmondy
(4) Ostwald

Paper-I1

B3¢ Fo3e03onE Dedd odwE

TIRIONNT CNEARNClotal g
SRS 2

() ALC,

(2) CaC,

(3) CaCO,

(4) (CH,C00),Ca

dodes® wdesw  §0ond
AULIIN TISRY AT FITED

(D

(2)

3)

Q)

2

133,00 TS B0d3.

TdTHT QRIOGTHD
WOTINES.

LTI ?(30’:3 ajéw(:;oda
'-Joo’%z‘va”.

BT BOBRT DTINCONDES.

apYe OO OIRERY, 38 Mo

0T OeSTNRTT, Tagsee-
BOHE  oBwdOIR  FFTOBOD
BeTEIDITY WE3deed

(1)
()
3)
“4)

5%
95%
5.26%
9.5%

zOony BROB BROTIT

BOSOD), BRTELD MEIRTZH
(1) 2595¢ e30mow®
(2) TowEstE PR
3) arteod
4) amgme:g
O BS



10.

11.

@A BS

An example of a covalent crystalline
solid is

(1) Sio,
CaF,

NaC/

CioHy [QQ]

Colligative

solutions are those which depend

upon

(1) nature of the solvent

(2) nature of the solute

(3) the number of solvent
molecules

(4) the number of  solute
particles

In H,-O, fuel cell the reaction

occurring at cathode is

(1) 2H,(g) + O5(g) — 2H,0()
H'(aq) + OH (aq) —>
H,O(/)

O,(g) + 2H,0()) + 4e” —
40H (aq)

1
(4) H'(aq) + e —— 5 Hy(g)

properties of

“

9.

10.

Il

8 IVATHNVY ABSeY Hp3E
FITRIN YVTIRTE

(1) SiOo,

CaF,

NaCl/

CyoHy [CX9)]

apiatalal TOTUTDEL TN

BT0NTTINTID 303

(1) =3 —a;mw
(2) z:rg)wécs “;;éz,maf
(3) T WY 7\30293ZS

(4) DR venY '-f:;’os,vjzs

H,-0, 2033 3ee3x adman,s w9
SBodos 8,08

(1)  2H,(g) + O,(g) — 2H,0()
H'(ag) + OH T(aq) —
H,0())

O,(g) + 2H,0()) + 4e7 —
40H-(aq)

@) H'(aq)+e—3 Hy(e)
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12.

13.

14.

15.

Which among the following, is a

thermosetting plastic ?
(1) Polypropylene
(2) Polystyrene

(3) Melamine

(4) Polyethene

The Electronic Configuration of

sodium ion (Na*) is

(1) 1s22s22p°3s!

(2) 1s22s2p®

(3) 1s”2s? 2p® 3s2

(4) 1s22s22p°

Which is acid salt ?

(1) NaCl/
(2) Na,SO,
(3) NaNO,
(4) NaHSO,

The general formula of cyclo-alkane

1S

() CH,,
2 CHy s
(3) CH,
4 C.H,,

Paper-I1

C))

12.

13.

14.

I5.

8 INIPINYY  FRecALion®
TR TE O, TOTOSA.

(1) =OIZpBO®

) D%, pf

3) ﬁae)sjoep‘
(4) TOPeT

ARCBODO 20300
ad%a@ VAR

(Na™)

(1) 1s22s22p° 3!
(2) 1s22s?2p®
(3) 1s?2s22p®3s?

4) 1s?2s22p°

£3e03003 @36 O3VFHT ?

(1) NaC/

2) Na,SO,

(3) NaNO,
@ NaHSO,

RPR BI,e3°NY T BRT,
() CH,,_,

2) C,Hy 4>

3) CH,

(4) CnH2n

O BS



16.

17.

18.

19.

aBS

The 3™ transition metal ion is
diamagnetic with the electronic
configuration is

() 3d?
(2) 3d°
(3) 3d’
(4) 3d10

The main constituent of amalgam is

(1) Fe
(2) Hg
(3) Au
(4) Os

Identity the correct matching :
Alloys
i. Nichrome a.

ii.  Alnico b.

Uses

Measuring tape

iii. Invarsteel c. Heating coils
i i

(1) ¢ b

2) ¢ a b

3) b c a

4 b a c

Among the following, index for the
gold number is

(1) protective gold

(2) gold present in ornaments

(3) extent of gold plating done

(4) presence of electric charge on

colloid

Artificial magnets

(6)

16.

17.

18.

19.

PeYoler (S ictgal ROBEDED

SPEHEOH Lo B IYNI

233 &° piealo) eo3%e-
& 5@

F202C0ODINT3

(1) 3d?

(2) 3d°

(3) 3d’

4) 3d"

VBRSSO TEos) FUT

(1) Fe

(2) Hg

(3) Au

(4) Os

EOOIRE BPomtdEoRTY THTH3L.

0T et vosmodner

i 3}@6&9 a. 3BT 503

i. @3 b. @Qgﬁ%

iii. aaf@meot ¢ YORREIT,
SN RoTHR
i it itl

(1 ¢ b a

2) ¢ a b

3 b c a

4) b a c

238, '-Josjéoi:o, 2 YAT oY) TT

RpWT ?

(D d%msé'c‘ 3O (e,—-’g)éﬁo;wa‘)

(2)  esICnYORE U8,

(3) BIB IRNLESIT WV

@) 3OO PDedTHI aabémﬁea’
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20.

21.

22.

23.

The substance having strongest
hydrogen bond

(1) HC/

(2) H,0

(3) HI

(4) H,S

Catalyst used in the hydrogenation
of oils

(1) Mg
(2) Fe
3) V,0;

“4) Ni

The chemical formula of “Blue

Vitriol” is

(1) CuSO,

(2) CuSO,-5H,0
(3) CuCl,

(4) Cu(NO,),

Match the scientists and their
discoveries :

Scientists Discoveries
1. Kolbe a. Urea
ii. Berthelot b. Acetic acid
iii. Michael Faraday c¢. Methane
iv. Fredrich Wohler d. Benzene

1 i i v
(1) b c a b
2) b d c a
3) b c d a
4) b a c d

Paper-11

Q)

20.

21.

22.

23.

SIS
BRODTVE =AY
(1) Hc!

(2) H,0

(3) HI

4 H,S

BOTIIT

0E .

agsbmf £ﬁ@eu§be§o’wd@ LR
gomsqga '
(h Mg

(2) Fe

(3) V,0

(4) Ni

20Q D3N’ QD [EHBT)
THODHIE BB,

(1) Cuso,

(2) CuSO,-5H,0

(3) CuCl,

(4) Cu(NO,),

;)asg}bn’vo WY WTT  BAE,T-
RIS BR0BD.

DY SAFR,TND
i. @@G% : a. oRBOIP
ii. WwPewots® b. ©Re3T w
iii. P FBE ¢ DFea’
iv. $27° Jpeect d. oex®

i il i v
(1y b c a b
2 b d c a
3) b c d a
4) b a C d

- @ BS



24.

25.

26.

27.

One of the following statement is
true about Ca(OH), :

(1) It is used in the manufacture of
cement.
(2) Iltisa light blue solid.

(3) Itis used in the manufacture of
bleaching powder.

(4) It does not posses disinfectant
property.

A solution turns red litmus blue, its
pH is likely to be

(1 1

(2) 4
(3) 5
4) 10

Among the following pairs, one
will give displacement reactions :

(1) FeSO, solution and Ag
(2) MgCl, solution and A/

(3) AgNO; solution and Cu
(4) NaCl/ solution and Cu

While cooking, if the bottom of
vessel is getting blackened on the
outside, it means that

(1) the fuel is wet.

(2) the fuel is burning completely.

(3) the fuel is not burning
completely.
(4) the food is not cooked

completely.

O BS

®

24.

25.

26.

27.

Ca(OH), R ToWoHRTOZ &8
NN 2,00 RONE.
(1) sy Asess 3o3ddodhd

AL Do)

(2) amd 3D ed P IR

3) ass BudHR Jodwdd-
oD weRES

(4) Q@D RPOTD AWITT WD
BROOY

2000 TRFE0EY) OB O3 AT O
Ned 2egd, SO TATT, ¥iT pH

1y 1

(2) 4
)
4) 10

& BYNT BREANYE 20T TIRL-
ODRT IBYES £, BROTNIT.
(1) FeSO, &op3ta s Ag

(2) MgCl, TR@m 353y Al

(3) AgNO, mze &y Cu

(4) NaCl @3¢ F Cu

wan @D, TIZeH BRT
3l Toned) SDUOINET (5?;%:58),
B0 VT

(1) [oFSTE 3300308

(2) @ops RORPEIE TN
(afesI>rplalad

3) @ops LITNEDE &3IN
DTN

(4) ©TTRY ¥SBodTHII
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28.

29.

30.

31.

32.

One of the following metals form an
amphoteric oxide :

(1) Na

(2) Ca

(3) Al

(4) Cu

An element that is an essential
constituent of all organic compounds
belongs to

(1) gfoup 6

(2) group 14

(3) group 15

4) g1'0L41p 16

A set of alkaline earth metals are
(1) {Na, Mg, A/}
(2) |Be, Mg, Ca}
(3) {Be,Mg,K}
(4) {Be,Na, Ca}

Identify the Dobereiner’s Triads.
(1) Li,Sr, I
(2) K,Sr,C/

(3) Ca,Sr,K

(4) LiNa K

Identity the strong electrolyte.
(1) (CH,CO0),Pb

(2) KHCO,
(3) AgNO,
(4) Na,CO,

Paper-11

&)

28.

29.

30.

31.

32.

3 NS Snpemndd  womd
eRJodgewe (amphoteric) &3 S
GU0EDTIVEIB.

(1) Na

2) Ca

G) Al

4) Cu

DY TOTODT  WOOSNINFOTHES
VITFF PUTHIE OB B8
oA AeDT.

(1) 63D

(2) 14 8 Mo

(3) 15 8¢ o)

4) 16 S8e ooy

z@peodo
™mTH3R.

(1) {Na, Mg, Al}
(2) {Be, Mg, Ca;|
(3)  {Be, Mg, K}
(4) {Be, Na, Ca|

IRSREENY Moty

d@wﬁﬁv‘? S %ﬁ%ﬂ%’d& noch3da.
(1) Li, St 1

2) K,Sr,C/

(3) Ca,Sr,K

(4) Li,Na, K

T &)cﬁaéaﬁmzsédzgl noood.

(1) (CH,CO0),Pb

(2) KHCO,
(3) AgNO,
(4) Na,CO,

O BS
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34.

Nitrogen atom has three unpaired
electrons. This can be explained by

ey

Pauli’s exclusion principle

(2) Autbau’s principle

(3) Hund’s rule

(4) Heisenberg’s uncertainty principle
Rutherford’s experiment of

* scattering of o-particles showed for

O BS

the first time that the atom has

(1) Electron
(2) Proton
(3) Nucleus
(4) Neutron
An electron  with  Azimuthal

quantum number (/ = —1) cannot be

present in

(1) s-orbital
(2) p-orbital
(3) d-orbital
(4) f-orbital

When passing through magnetic
field,
experienced by

the greatest deflection is

(1) o-rays
(2)  P-rays
(3) y-rays
(4) neutron

(10)

33.

34.

3s.

36.

TITHRITE ORI e
ReRo3PN YORHTHT ad%a‘
933, ABsy ANTEES 3Z/A0DeH

(1) T wSHHTED BT,

(2) sFtunes 33

(3) DoGES NOF VPTZ, Ao
(4) &GRITWNTER @b@sz&éo&a L
DECIPPEETES By, TN

bk infeY.{oNy) @o&m?ﬁd@ BTI0E0
ouSt Bowopased SeResy

20N FoBNok oI
(1) ,iéa@a@
(2) Hptst
(3) SRIoHES
(4) SeET

ad%afa T~ ere{on a%oame
Tosl, | ®AgS, & JYNI odwss
a‘%ﬁﬁ%’@’ TOmy WAROY 7

(1) s3332
(2) p-B3T
3) d—ﬁ%@
4) f-é%‘é’
@oé%@%ﬁ@ TOTHBRCOTIN

BYS agemso:asgl 3302 R
306D

e} B, (o) 30
(2) ee3zo (B) 3T
(3) T (y) 3T
4) SR
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37.

40.

Gallium was named by Dimitri

Mendeleev as

(1)  Eka-silicon

(2)  Eka-germanium
(3) Eka-aluminium

(4) Eka-zinc

The smallest sized ion among the
following is

(1) N
(2) O
3) Mg*
4) AP*

The compound which contains both
ionic and covalent bond is

(1) H,0
(2) HCI
(3) KCN
(4) Kl

C,H, (ethene) contains following

bonds :

(1) 20, 2rnbonds
(2) 40, 2n bonds
(3) 50, It bonds

(4) 30, 2nbonds

(11

37.

38.

40.

B0, SoomEdes® Tt mdobo
TR Jedy Brh

(1) &-2O0FF

(2) HT- zBRECACHO
3) &3- emé&)abo.bo
(4) D3-BosF @)

& $YNT woiRHNYY 8303 ey
TS

() N+

(2) O*

(3) Mg*

(4) APt

YoIRT Py wBSed)
2OFNITEIY BROBTV
TIRO0RAT HOO30E

(1) H,0

(2) HC!

(3) KCN

(4) K/

CH, (386 wvrteoloos
WO ‘
(1) 20,2m2005N1%d
(2) 40, 2nwopned
(3) 50, Inwogpned
(4) 30, 2m0pned
O BS



41.

42.

43.

44,

Most sensitive of

photosynthetic machinery is
(1
(2)
3)
(4)

light part
PS-1 complex

PS-11 complex

Carbon fixation

Chloroplast division

Genetic dwarts are often deficient in

(1) Auxin

(2) Abscissic acid
(3) Gibberellin
(4) Cytokinin

Salinity in soil is caused by

(1) excess addition of rain water

(2) excess leaching

(3) rapid evaporation of surface
water

(4) accumulation of  soluble

minerals in the soil

Climax community is in the state of

Equilibrium

(2) Non-equilibrium
(3) Abrupt change
(4) Change

(12)
Biology

41.

42.

43.

44.

@2 Roeamo [FFoRY Wver

w30z B  Reg Sob
BROOTOT yIon

(1) PS-1Rodeeae

(2) PS-lIRodesse

(3) BWEIR ébeﬁdm

(4) BpeBeemgrinY DR

FOPICLEN  BRHE0deoDd  BoY-
ned, 8 =K TIDPECAR BNTS
QI

(1) e3x°

(2) WUtRARTE B

(3) Ny BOF

(4) ﬁjz@ei;m@

DRPS  OTPIT  (salinity) Cplela)

QTINT.

(1) :bzgﬁ B3O DY AedI
eI

(2) DR TTONYY ¥ 0T
Tk o%zis';ﬁmmaé

(3) aﬁaedw aeds Ienwos
IR ovvpla etk

(4) aiasgség DRI FOTOT
WARNY 3eauTs

w—‘maa‘g Tasnmoodhw  (Climax
community) H02S &ert achead

(1) R3O

(2) YRDINRCOT

(3) TSt WBLITH
4) wBwSH
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45.

46.

47.

48.

The most diversified communities

on Earth is

(1) Temperate grasslands

(2) Tropical evergreen rainforest
(3) Tropical deciduous forests

(4) Temperate forest

Decomposition rate is high in

(I) warm temperatures and dry
conditions

(2) low temperature and moisture
conditions

(3) low
conditions

temperature and dry

(4) warm temperature and moisture

conditions

Antirachitic factor is found in
(1) Vitamin-A
(2) Vitamin-C
(3) Vitamin-D

(4) Vitamin-E

The adulterants that adulterators use
to increase the lactometer reading by
maintaining density in milk is

(1) Benzoic acid

(2) Salicylic acid

(3) Ammonium Sulphate

(4) Soap

Paper-I1

(13)

45.

46.

47.

48.

godod  whed wZow B
aﬁﬁc%éoﬁa&gﬁﬁ&ocs’ Qe
AINTIOD

(1) RDICB0eET TOLOTTITELD

(2) NFSUODE TR

(3)  vgsuodhs RTINS plece)
4) m‘abéeé\mag T

83 BJFom a‘&ééﬁ#@ BAEA LN
5;)’)?5)033 BORP (Rate of decomposition)
éas%ﬁo’ogd

() T TS DR w3

2) sad DBINI DR

3003
(3) BB TTNT DR BRI
(4) VT TTT D) Sew003

8 29308 DBTTIY DUUTS
NBRCPT 203 T B0L3-T L350
©03 (Antirachitic fictor) QO3

(1 %GE@?«J’% -A

(2) ReSRS,-C

(3) Reawg,-D

4) 2363753‘_3 -E

mgmsw@ (wé&%eaaeuce)
HoOT mogBorsy BPRe Fo-
230300 wYELE BeRITE SRy
(1) 2Jodnecns® ued
2) =20 wap
(3) ©BeeQod0 -f:egeasf
(4) WA

O BS



49.

50.

a BS

The absence of green house gases in

the atmosphere leads to one of the

following :

(1) The earth’s temperature would
become zero.

(2) The  earth’s
increase.

temperature

(3) There would be no global
warming.

(4) The earth’s temperature would
remain constant.

One of the following is not
a limitation of  ecological
pyramids :

(h Séprophytes have got no place.

(2) Detritus food chain is not

considered.

(3) Ecological  pyramids  do

not provide any clue to
seasonal and diurnal
variations.

(4) Food chains and pyramids
rarely have more than tour or
five trophic levels.

One of the following sequences

correctly describes the cell cycle

phase :

(n G — G, — S— G,

—— mitosis.

2 S—G,— mitosis —>
G,— G,

() G,— G
—> mitosis.

AS-——)Gz

(4) Mitosis— G, —> Gy—

S—— Gz- '

(14)

49.

50.

THOINTOBVEE BT T YAV

MY oHBYBODY YOS

F3felisne)

(1) 2300 ROIRD BOBIPI
amsémmgﬁ.

Q) 200D SITTNT BIPVST.

(3) 2PN8F  STBNS 2OB
LVOEZITOF) OY.

(4) edod TIBHPS TN
ePoINI3.

2NV 1.0 FORTE TG

Tt So3odiy BODHOY.

(1) m&if\aﬁﬁﬁ nO1 (Saprophyte)
SORT ATMHETVE RIIY,

(2) 2098 (Detritus) &80
ﬂdﬁi’oﬁaﬁgﬂ TONIDYHDY.

(3) IDBITIING ToNwe dyoas
BIEAIR
SONLARTVH DY,

(4) ©ToC ATTP T FTOXT
STWENH AoTPIEN 4
WD 5 8,08 BB, SPeRT
HORYSy RO,

QRNYD o BT V-

e 8T (@¥3,0) BOSNYIY

HOO3IPA RAVAES.
() G,———)Gz———>S——>G(,
— Eﬁ)ﬁb?lﬁe

2) S — G, —> REPAF®
—> G, — G,

3) G(,-—>G]e——>S——>G2
—— pTATE

(4) Bpsrr® — G — G,
—>S—>G,
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52.

53.

54.

55.

The functions of lysosomes in plant

cells are assumed by
(1) Golgi complex
(2) Endosome

(3) Vacuole

(4) Peroxisome

The hormone which is secreted by

the intestine, the delta cells of

pancreas and the stomach is
('l“)” Gastrin

(2) Cholecystokinin

(3) Somatostatin

(4) Secretin

Prions are composed of
(1)  only DNA

(2) only RNA

(3) only glycoprotein
(4) both DNA and RNA

The organism which is estimated to

l
produce 1 of atmospheric oxygen is

(1) Protozoa

- (2) Anabaena

(3) Euglena

(4) Diatoms

(15)
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56.

57.

S8.

a BS

Astigmatism occurs due to

(1) Loss of elasticity of the
lens.

(2) Deformity of eyeball.

(3) Increase of intraocular
tension.

(4) Uneven curvature of the

cornea.

Identify the cattle breed which yields

high quantity of milk.

(1)y Gir

(2) Sindhi

(3) Deoni

(4) Sahiwal

Germplasm theory of Organic

evolution was proposed by

Weisman

(1)

(2) Lamarck
(3) de Vries
(4) Darwin

(16)
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59.

60.

The term that defines, the formation
of comparable external body
parts, with comparable bone
structures, but having different
function in different vertebrates

is
(1) Missing links
(2) Vestigial structures

(3) Analogous structures

'(4) Homologous structures

The stages of human ancestry is

given below, identify the correct

sequence.

(1) Homo habilis —— Homo
neanderthalensis —— Homo

erectus —— Homo sapiens

(2) Homo sapiens ——> Homo
erectus —— Homo habilis

——> Homo neanderthalensis

(3) Homo habilis —— Homo

erectus — Homo
neanderthalensis —— Homo

sapiens

(4) Homo neanderthalensis —
Homo habilis —— Homo

_erectus — Homo sapiens

Paper-11
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61.

0 BsS

Match the following with the
cells of phloem tissue in Column

1 with their tunctions in
Column 1I. Identify the correct
choice :
Column | Column H
a. Sieve p. Long row of
elements cells
specialized for
transport of
food.

b. Companion ¢. Specialized

cells structures bring
about
exudation  of
food.

c. Parenchyma r. Living cells
concerned with
storage of
organic  food
matter.

d. Fibres s. Elongated cells
provide
mechanical
support.

t. Small elongated
cells help in
conduction
and control
of food
materials.

a b C d

M p t q
@ p q © s
3) p I $
@ p S t r

- (18)
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62.

63.

64.

The nucleosides of DNA are
(1) Deoxy-ribose sugar + H,O

(2) Deoxy-ribose sugar + nitrogen

bases

(3) Deoxy-ribose sugar + nitrogen

bases + phosphate group

(4) Deoxy-ribose sugar + nitrogen
bases + phosphate group +

water

If an individual is heterozygous for
both characters as i F, in
Mendalian Dihybrid inheritance is
test crossed with double recessive,

the phenotypic ratio obtained is

(1) 9:3:3:1
) 1:1:1:1
(3) 1:2:2:1
(4) 1:2:3:4

The female reproductive part of

polysiphonia is called

(1)  Oogonium

(2) Carpagonium

(3) Female conceptacle

(4) Female cryptoblast

Paper-11
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6S.

66.

67.

68.

O BS

Mulberry, tusar and muga are the
varieties of

(1)

leaves eaten by silkworms

cultivated silks using different
silkworms

natural silk

process of separating the silk
fibre

The bee species which is not
possible to domesticate is

(1) Apis cerana indica

(2) Apisindica

(3) Apis dorsata

(4) Apis mellifera

The connecting link  between
Annelida and Arthropoda is

(1) Lepidosiren |

(2)  Ornithorhynchus

(3) Peripatus

(4) Sphenodon

The technique of DNA finger
printing has been developed by

(1) Kary Mullis
Maurice Wilkins
Baltimore D.

 Alec Jeffreys

(20)
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69.

70.

Elasmobranchi is the group which

includes

(1) Lung fishes

(2) Cat fishes

(3) Cartilaginous fishes

(4) Bony fishes

Read the statements A and B.
Indicate the correct choice from

these given below :

Statement A — Insulin is a small
protein. It consist
of 51 amino acids

in A and B chains.

Statement B - A polypeptide

chain consists of
21 amino acids and
B-polypeptide

chain has 30 amino
acids. These chains
are linked by a

disulphide bond.
(1) Statement A is true, B is false.
(2) Statement B is true, A is false.

(3) Both the Statements A and B

are true.

(4) Both the statements A and B

are false.
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71.

72.

O BS

Mode of nutrition in earthworm is

{1) Holozoic
(2) Coprozoic
(3) Holophytic

(4) Saprozoic

The culturing of undifferentiated cell
mass which are initiated from an
explant of seedling or other plant

tissue source is

(1) Callus culture
(2) Tissue culture
(3) Organ culture

(4) Protoplast culture

The technique which is carried out to
confirm the presence of foreign

DNA in the offspring is
(1) Western blot

(2) Tail blot

(3) Elisa

(4) PCR test

(22)
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74.

75.

76.

When a cell expends energy to move
a solute across its membrane against
a concentration gradient, the process

is called

(1) Diftusion

(2) Facilitated diffusion
(3)  Active transport

(4) Osmosis

Syphilis is caused by the virus
(1) Vibrio cholerae

(2) Neisseria ‘gonorrhoeae
(3) Closvtridium botulinum

(4) Treponema pallidum

The special channels found in

plasma membrane for  water

transport are

(1} Porins

(2) Aquaporins
(3) Permeases

4) lon pumps
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77.

78.

79.

80.

a BS

The cell organelle having half unit

membrane is

(1) Ribosome
(2) Sphaerosome
(3) Lysosome

(4) Peroxisome

The path which is often called

facultative pathway 18
(1) C-3 pathway
(2) C-4 pathway
(3) CAM pathway

(4) C-2 pathway

In glycolysis ATP is synthesized by
(1)  Fructose 1-6 bisphosphate
(2) Phosphofructo kinase-1

(3) Glyceraldehyde

dehydrogenase

3-phosphate

(4) Phosphoglycerate kinase

Chlorosis in leaves is generally due

to deficiency of

(1) Magnesium and Iron

(2) Calcium and Iron

(3) Chlorine and Magnesium

(4) Calcium and Sodium

(24)
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81.

82.

83.

Methodology

25)

(Chemistry and Biology)

Testing improves learning because
(1) students study well.

(2) result of the test helps in

reinforcement.

(3) tests provide feedback for the

whole unit.

(4) answering ability of the

student is developed.

While preparing a unit test in

Science, a teacher should first
(1) prepare a blue print

(2) write the questions

(3) write the key

(4)  identify the difticult areas

“Suspended

greatest triumph of intellectual

discipline.” The characteristic of
scientific attitude reflected in this

statement is

(1)  Open mindedness
(2) Clarity in vision
(3) Curiosity

(4) Unbiased
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84. The first aid should be provided for
the wound caused due to acid burn is
to wash the wound with
(1) water and then with saturated

sodium-bi-carbonate.

(2) 1% acetic acid and then with
alkali.

(3) alcohol and then with water.

(4) water and then with alcohol.

85. The suitable method of developing
laboratory skills
(1) showing the experiments in

laboratory.

(2) teaching by project method.

(3) by providing opportunities for
experimentation in the
‘laboratory.

(4) by discussing the experiments
conducted by the great
scientists.

86. The best learning experience among
the following :

(1) discussing about enzymes

(2) student  experiencing  the
liberation of heat by adding
water to calcium oxide

(3) preparing a chart of extraction
of iron in blast furnace

(4) listening to a lecture on
importance of catalyst

0 BS
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87.

88.

89.

Deductive  approach can  be

illustrated by

(1) declaration of presence of

glucose by benedict solution.

(2) generalisation that  water
produces  hydrogen  with
metals.

(3)  conclusion drawn experimentally

that acids tumn blue litmus to red.

(4) seeing mercury as a liquid

metal,

The ability that can be developed

through Heuristic method is
(1) Divergent thinking
(2) Verbalising the law
(3) Sketching a figure

(4) Balancing the equation

Both investigation and verification

approach are used in

(1) Inducto-deductive method

(2) Laboratory method

(3) Lecture demonstration method

(4) Scientific method
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90.

91.

92.

O BS

An instructional objective contains
(1)
(2)
(3)

an action verb only
the expectation of a teacher

the achievement a student

makes

4

the content part and behaviour

modification part

The following statement best

explains, the unit :

A collection

(1)

of topics on

random basis.

(2)

A collection of topics on some

conceptual similarities

A collection of topics on the

(3)
basis of difficulty level.

(4) An arrangement of content in
sequence.
The important characteristic of

improvised apparatus is
(1) based on concept
made by available resources

done by teacher

the replica of the original

(28)

90.

91.

92.

W ReRRReB) Lot eoBTHEs ST
(1) 303083 98,

) éi{ﬁé Z’Dbegwr\’e?o

(3) DWHET O3 TE Epiaty
4) DFod AN DR msaeé-s

TR JOF,TED N

& 3eDBodw  TET  20WTT
OFEed, LI QATTBOIINS.

(1) ojsaq)z%a’ Tlnpielaliliiniol atH

RONBE.

2) =OTURNY mabééoﬁ@lcsaa,
TOBNY Ko ,FB.

(3) &S0 DEITTYFOR
TOBNY ROT,FB.

4) QdTolTY Foron8odd

2REBROT HPIR.

RDE0Z NTTTEINS e:é 08

T THeeE3onT

(1) [OBYRM Ro2oPTLIEB)

(2) BRTDS NS
BREOETLEE.

©)) mmc;méodoaodde
BREETD.

(4) o sERR FRTBINTIEB.

Paper-11



93.

94,

9s.

96.

The unit test evaluates
(1) objectives only
(2)  learning experiences only

(3) both objectives & learning
experiences

(4)  learning situation

Lesson plan helps the teacher to

(1)  modity his behaviour

(2) savetime

(3) develop confidence in feaching

(4)  keep class in silence

One of the following is not the
characteristic of first aid : '

(1) it should be immediate

(2)  the person who administer first
aid should be confident

(3) there should not be too many
people around

(4) the should be

hospitalised

patient

Science centres are

(1) places where Science is taught.

(2) established by the
Government.

(3) found in each school.

(4) centres to popularise Science.

Paper-II

29)

93.

94,

9s.

96.

PUT  TeFoy  IPUTRTT

AVBYEA I

(1) wogdesnomy wng,

(2) 3O® wSNYRY w03,

3y emcgeefmfo Tonw 3O
OIBNICERY,

4) O :}Qla’seefn'eé@l

o8 odnemdNos UOTFFODOT
B B03eeRTHS06d

(1) o3I SIS0 wnwnms
(2) RDoOHT Pzood

(3) needmen B30IIRT LIaedrt
4) a‘o’ﬁéojaaigl 2’056%mﬁa§w

8 3YB0m w0 O TH
z&é%o&:cgg.

(1) o> 3¢y monTedes.

2) TEad wsZoday dersaor

eséé POE T2IeD.

(3) x’ogmgw WY =J00-
2T,

(4) SweRody SIS mosuen
Soceiesd.

WS FOTNFOTTS ey

(1) 2RI 2leepmdss Y.

(2) RTETHOT TToPATY).

() U3 TNV ForwTHEaI.
(4) RITI, BIoPRAIRT

ﬁ’o‘-g’n’vo.

O BS



L G

97.

98.

99.

100.

O BS

The following objective cannot be
raised by Computer  Assisted
Instruction (CAI) :

(1)
(2)
3)
4)

Cognitive
Affective
Psychomotor

Conative

The characteristic of
multimedia for teaching is

(1)

computer

Sequencing and reinforcement

(2) Interpretation of data
(3) Question bank
(4) Statistical analysis

A representative of phylum / group
can be taken as an example while
teaching Biology through

(1

Discovery approach

(2) Type-species approach

(3) Problem-solving approach

(4) Inductive approach

This is the most important

professional quality of a Science

teacher. He should

(1) participate in seminar

(2) write articles in Journals

(3) be capable of answering
questions

(4) be a researcher and do

extension education

(30)
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